Name:

Date:

Solving Equations by Collecting Like Terms - Faster Way

dr 4+4 =16 — 2z

dr 4+ 2x =16 — 4

6x = 12
O6x 12
6 6
r =2

d) 24 — 6x = 36 — 3x eyd3r—14+x=5+7r—3

f) —4r — 2 =10 + 2z g)2r+3r+4=-8—x
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http://www.codecogs.com/eqnedit.php?latex=4x&plus;4=16-2x
http://www.codecogs.com/eqnedit.php?latex=4x&plus;2x=16-4
http://www.codecogs.com/eqnedit.php?latex=6x=12
http://www.codecogs.com/eqnedit.php?latex=%5Cfrac%7B6x%7D%7B6%7D=%5Cfrac%7B12%7D%7B6%7D
http://www.codecogs.com/eqnedit.php?latex=x=2
http://www.codecogs.com/eqnedit.php?latex=x=2
http://www.codecogs.com/eqnedit.php?latex=24-6x=36-3x
http://www.codecogs.com/eqnedit.php?latex=3x-1&plus;x=5&plus;7x-3
http://www.codecogs.com/eqnedit.php?latex=-4x-2=10&plus;2x
http://www.codecogs.com/eqnedit.php?latex=2x&plus;3x&plus;4=-8-x
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